FHERFEENE

ERENE (M)

249TERI BRUL %gfi BHERS s s e | 7| s | 9o | 0] 11| 12| 1 2 | 3 & %
B IERER =HID120khhE T 120 120 120 120 120 120 120 120 120 120 120 120 1,440
(OZVEEU UMWV ZE D)) 20A 120kWh % #8 2 280kWhE T 160 160 117 125 125 118 144 160 160 160 160 160 1,749
280kWh%##B X 5% 153 229 0 0 0 0 0 228 665 690 596 572 3,133
HREHE 433 509 237 245 245 238 264 508 945 970 876 852 6, 322
SHIRER =HD120khhE T 120 120 120 120 120 120 120 120 120 120 120 120 1, 440
(FATY971%39) 30A 120kWh % #8 2 280kWhE T 160 160 128 160 160 129 160 160 160 160 160 160 1, 857
280kWh%##B X 5% 314 58 0 5 23 0 4 150 536 493 579 534 2,696
HREHE 594 338 248 285 303 249 284 430 816 773 859 814 5,993
BIEIER =HD120khhE T 120 120 120 120 120 120 120 120 120 120 120 120 1,440
3h9Y974%39) 30A 120kWh % #8 2 280kWhE T 160 160 144 160 160 160 160 160 160 160 160 160 1,904
280kWh%##B X 5% 131 24 0 62 120 23 11 99 229 282 675 643 2,299
FRENE 411 304 264 342 400 303 291 379 509 562 955 923 5,643
EnE MZTEHAIER =D120khhE T 16 18 18 20 23 18 18 18 18 18 16 18 219
Avh  avh9%YIT4%3h) 15A 120kWh % #8 2 280kWhE T 0 0 0 0 0 0 0 0 0 0 0
280kWh%##B X 5% 0 0 0 0 0 0 0 0 0 0 0]
FRENE 16 18 18 20 23 18 18 18 18 18 16 18 219
BB KRKAER =ID120khhE T 120 120 120 120 120 120 120 120 120 120 120 120 1, 440
@avHh 442v974%39) 30A 120kWh % #8 2 280kWhE T 160 153 128 157 160 141 154 160 160 160 160 160 1,853
280kWh%##B X 5% 67 0 0 0 14 0 0 74 243 272 302 256 1,228
FRENE 347 273 248 277 294 261 274 354 523 552 582 536 4 521
BEHBER MEHAIER =ID120khhE T 15 17 17 19 21 17 17 17 17 17 16 17 207
(#2a%ENY A999%Y5T74%39) 15A 120kWh % #8 2 280kWhE T 0 0 0 0 0 0 0 0 0 0 0 0 0
280kWh%##B X 5 % 0 0 0 0 0 0 0 0 0 0 0 0 0]
EEELB FRENE 15 17 17 19 21 17 17 17 17 17 16 17 207
B MEHAERD =ID120khhE T 17 19 20 27 32 24 18 18 18 18 16 18 245
(May  amsmy974%39) 15A 120kWh % #8 2 280kWh&E T 0 0 0 0 0 0 0 0 0
280kWh%##B X 5% 0 0 0 0 0 0 0 0 0
FRENE 17 19 20 27 32 24 18 18 18 18 16 18 245
EE MEHATESD =HID120khhE T 33 36 35 38 42 39 38 38 39 39 33 37 447
(Fsth A999%9974%3%) 15A 120kWh % #8 2 280kWh&E T 0 0 0 0 0 0 0 0 0 0 0 0 0
280kWh%##B X 5% 0 0 0 0 0 0 0 0 0 0 0 0 0
FRENE 33 36 35 38 42 39 38 38 39 39 33 37 447
HOoH XKKAERD =HID120khhE T 120 120 120 120 120 120 120 120 120 120 120 120 1, 440
(E/T 44%9974%39) 30A 120kWh % #8 2 280kWh&E T 160 160 160 160 160 160 160 160 160 160 160 160 1,920
280kWh%##B X 5% 168 50 22 63 91 44 18 69 252 291 329 268 1, 665
FRENE 448 330 302 343 371 324 298 349 532 571 609 548 5,025
BrE MZEHATER =HID120khhE T 32 33 34 37 40 34 33 32 33 33 31 34 406
(GRS v L ULEYUAZEXUD! 15A 120kWh % #8 2 280kWh&E T 0
280kWh%##B X 5% 0
FREHE 32 33 34 37 40 34 33 32 33 33 31 34 406
TBrE MZEH#EIER E=HID120klhE T 31 35 37 45 48 41 34 33 33 33 30 33 433
(PHEN D 2999%9974%3)) 15A 120kWh % #8 2 280kWh&E T 0 0 0 0 0 0 0 0 0 0 0 0 0
280kWh%##B % 5% 0 0 0 0 0 0 0 0 0 0 0 0 0
FREHE 31 35 37 45 48 41 34 33 33 33 30 33 433
Tt MZERAER E=HID120klhE T 15 18 19 23 27 20 17 17 17 17 16 17 223
AF& A999%9971%39) 15A 120kWh % #8 2 280kWh&E T 0 0 0 0 0 0 0 0 0 0
280kWhZ##B % 5% 0 0 0 0 0 0 0 0 0 0
FREHE 15 18 19 23 27 20 17 17 17 17 16 17 223




FHERFEENE

ERENE (M)

249TERI BRUL %gfi BHERS s s e | 7| s | 9o | 0] 11| 12| 1 2 | 3 & %
E=iE KRBIER =HID120khhE T 120 120 120 120 120 120 120 120 120 120 120 120 1,440
(MY 44%9974%39) 30A 120kWh % #8 2 280kWhE T 160 160 160 160 160 160 160 160 160 160 160 160 1,920
280kWh%##B X 5% 213 189 181 223 249 197 190 230 367 395 313 288 3, 035
HREHE 493 469 461 503 529 477 470 510 647 675 593 568 6, 395
B RKKRAER =HD120khhE T 120 120 120 120 120 120 120 120 120 120 120 120 1, 440
(NYx43 44¥9971%39) 30A 120kWh % #8 2 280kWhE T 160 160 160 160 160 160 160 160 160 160 160 160 1,920
280kWh%##B X 5% 249 30 14 66 97 19 8 76 206 225 422 398 1,810
HREHE 529 310 294 346 377 299 288 356 486 505 702 678 5,170
BEE KXKAER =HD120khhE T 120 120 120 120 120 120 120 120 120 120 120 120 1,440
(YR 3449974%3)) 30A 120kWh % #8 2 280kWhE T 160 160 160 160 160 160 160 160 160 160 160 160 1,920
280kWh%##B X 5% 82 16 8 76 100 39 9 124 364 384 309 237 1,748
FRENE 362 296 288 356 380 319 289 404 644 664 589 517 5,108
rtEE KKAER =D120khhE T 120 120 120 120 120 120 120 120 120 120 120 120 1, 440
(h37Yv 842V 974%39) 30A 120kWh % #8 2 280kWhE T 160 160 160 160 160 160 160 160 160 160 160 160 1,920
280kWh%##B X 5% 225 223 207 235 257 219 207 227 328 365 336 243 3,072
FRENE 505 503 487 515 537 499 487 507 608 645 616 523 6, 432
#BI KKBIER =ID120khhE T 120 120 120 120 120 120 120 120 120 120 120 120 1, 440
(Lh7T 84%Y974%39) 20A 120kWh % #8 2 280kWhE T 160 160 140 160 160 156 144 142 160 160 160 160 1, 862
280kWh%##B X 5% 44 5 0 15 48 0 0 0 169 246 214 131 872
FRENE 324 285 260 295 328 276 264 262 449 526 494 411 4,174
A KKRAED =ID120khhE T 120 120 120 120 120 120 120 120 120 120 120 120 1, 440
(497 44%9974%39) 30A 120kWh % #8 2 280kWhE T 160 160 160 160 160 160 160 160 160 160 160 160 1,920
280kWh%##B X 5 % 107 40 17 53 78 36 36 112 233 262 243 184 1, 401
FRENE 387 320 297 333 358 316 316 392 513 542 523 464 4, 761
RE MEHATERD =ID120khhE T 32 34 34 42 48 39 34 33 34 33 31 34 428
EEEE (Y77} A999%9974%3)) 15A 120kWh’Eﬁﬁ_280kWh$'€‘ 0 0 0 0 0 0 0 0 0 0 0 0 0
280kWh%##B X 5% 0 0 0 0 0 0 0 0 0 0 0 0 0
FRENE 32 34 34 42 48 39 34 33 34 33 31 34 428
IhFA MEHEIER =HID120khhE T 17 18 19 25 30 22 19 17 19 19 17 18 240
(9N 2999%9974%39) 15A 120kWh % #8 2 280kWh&E T 0 0 0 0 0 0 0 0 0 0 0 0 0
280kWh%##B X 5% 0 0 0 0 0 0 0 0 0 0 0 0 0
FRENE 17 18 19 25 30 22 19 17 19 19 17 18 240
ER MZEHATERD =HID120khhE T 15 19 22 30 33 25 18 16 17 17 15 17 244
(347 I9974%3)) 15A 120kWh % #8 2 280kWh&E T 0 0 0 0 0 0 0 0 0 0 0 0 0
280kWh%##B X 5% 0 0 0 0 0 0 0 0 0 0 0 0 0
FRENE 15 19 22 30 33 25 18 16 17 17 15 17 244
I MZEHBIER =HID120khhE T 32 35 34 37 40 35 34 34 34 35 31 34 415
@ny a999%9974%39) 15A 120kWh % #8 2 280kWh&E T 0 0 0 0 0 0 0 0 0 0 0 0 0
280kWh%##B X 5% 0 0 0 0 0 0 0 0 0 0 0 0 0
FREHE 32 35 34 37 40 35 34 34 34 35 31 34 415
HEE MEHIER E=HID120klhE T 16 17 18 19 21 18 18 17 17 18 16 18 213
(9IFT A999%Y974%39) 15A 120kWh % #8 2 280kWh&E T 0 0 0 0 0 0 0 0 0 0 0 0 0
280kWh%##B % 5% 0 0 0 0 0 0 0 0 0 0 0 0 0
FREHE 16 17 18 19 21 18 18 17 17 18 16 18 213
BE XKAER E=HID120klhE T 120 120 120 120 120 120 120 120 120 120 120 120 1, 440
U314 94%9974%3%) 30A 120kWh % #8 2 280kWh&E T 160 93 118 160 132 132 127 160 160 160 160 160 1,722
280kWhZ##B % 5% 28 0 0 0 0 0 0 49 205 100 135 84 601
FREHE 308 213 238 280 252 252 247 329 485 380 415 364 3,763
=HID120khE T 1,711 1,739 1,747 1,802| 1,845 1,772| 1,738 1,730 1,736 1,737| 1,708] 1,735 21,000
EREHEAH 120kWh % #8 2 280kWh&E T 1,920 1,846| 1,735 1,882 1,857 1,796 1,849 1,902| 1,920 1,920( 1,920| 1,920 22,467
280kWh%##B % 5% 1,781 864 449 798| 1,077 577 4831 1,438| 3,797 4,005| 4,453 3,838 23, 560
AREREA= 5,412 4,449| 3,931| 4,482 4,779| 4,145| 4,070| 5,070 7,6453| 7,662 8,6081| 7,493 67,027




